

# Rappels:

$$a^n \times a^r = a^{n+r}$$

$$(a^n)^r = a^{n \times r}$$

$$a^1 = a$$

$$a^0 = 1$$

$$a^{-n} = \frac{1}{a^n}$$

$$\frac{a}{b} + \frac{c}{d} = \frac{ad + bc}{bd}$$

$$\frac{a}{b} \times \frac{c}{d} = \frac{ac}{bd}$$

pour  $b \neq 0$  et  $d \neq 0$

$$\frac{a^n}{b^n} = \left(\frac{a}{b}\right)^n$$

$$(ab)^n = a^n \times b^n$$

$$\sqrt{a} \times \sqrt{b} = \sqrt{a \times b}$$

$$\frac{\sqrt{a}}{\sqrt{b}} = \sqrt{\frac{a}{b}}$$



## Dérivées:

$$f(x) = ax + b \rightarrow f'(x) = a$$

$$f(x) = x^n \rightarrow f'(x) = n x^{n-1}$$

$$f(x) = \frac{1}{x} = x^{-1} \rightarrow f'(x) = -1 x^{-2} = -\frac{1}{x^2}$$

$$f(x) = \frac{1}{x^2} = x^{-2} \rightarrow f'(x) = -2 x^{-3} = -\frac{2}{x^3}$$

$$f(x) = \sqrt{x} = x^{\frac{1}{2}} \rightarrow f'(x) = \frac{1}{2} x^{-\frac{1}{2}} = \frac{1}{2\sqrt{x}}$$

$$f(x) = u + v \rightarrow f' = u' + v'$$

$$f = u \times v \rightarrow f' = u' \times v + u \times v'$$

$$f = k \times u \rightarrow f' = k \times u'$$

$$f = \frac{1}{v} \rightarrow f' = -\frac{v'}{v^2}$$

$$f = \frac{u}{v} \rightarrow f' = \frac{u' \times v - u \times v'}{v^2}$$

à condition que  
 $v(x) \neq 0$

$$f(x) = \ln x \rightarrow f'(x) = \frac{1}{x}$$

$$f(x) = e^x \rightarrow f'(x) = e^x$$

$$f(x) = \sin x \rightarrow f'(x) = \cos x$$

$$f(x) = v(u(x)) \rightarrow f'(x) = u'(x) \times v'(u(x))$$

$$f(x) = u^n \rightarrow f'(x) = n \times u' \times u^{n-1}$$

$$f(x) = x^a \rightarrow f'(x) = a x^{a-1}$$

$$f(x) = \cos x \rightarrow f'(x) = -\sin x$$